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o Seat Exeroise,
— = = 9
Seat Exeroige, éif; gig; gi —12
145— 6 +5 — 6 + =11 24 6= 14+ 6= 6+ =11
1= 5+ 6 — 24+ =17 6+ 2= 6+ 7= 64+ =
R ofe B o G 8 + =13 84 6= 84+ 6= 6_+ =10
542 = 54 7= 44+ =9 6 4 6 = B filf= ot & 54 S
oS |fri= [s¥s= i Zo sie= |ele= |eio |2t =
6 5= 5+ 38— 5 4 8 = 54+ =10 g 4 B 6+ 6— 04 6— 6.1 e
7+ 5= 44+5= - JUAY . 3+ =8 _ . ’
8 4 5 = 5 A o 51 09— 74+ =12 1. S{x and elghtarehow;nany.
94+5= S 45— 045 — 9+ =14 R. Six and what make 14
— 3. Eight and what make 14°?
1. Five and geyey are how 4. Six and seven are how many ?
many ? 5. Six and what make 13 ?
2. Five angd what make 127 6. Seven and what make 13 ?
3. Seven and whag make 19 9 7. Six and nine are how many ? |
4. Nine and fiye are how 8. Six and what make 15 ?
many ? 9.

Nine and what make 15 ?
5. Eight ang what make 137? ;

6. Five and what make 13?
7. Five and What make 14?7
8. Five and what make 11?
9. Five ang what make 19 ?

| r/r

10. George has 6 nutg gpg John hag 5. How many

have both ? o oo has ‘-
11. Mary hag v flowers. How many more must she get

to have 127

3 -
< - T . o~ g:-
—

12. Jane hgg learned five words. How many more
must she learn to know 10 g

10.- If Jobhn glves Ma._r): éiéht flowers, how many must
James give her so that she will have 14 ?

———.——-—___
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44 ADDITION—EXERCISES FOR
10. Peter and John have 16 apples, and Peter has 9 of

. them. How many has John ?
12. John gave Mary seven flowers and James Zave her S SN TRy Aa8 0

9. If Frank and Mary find 15 eggs, and Marty
seven of them, how many does Frank find ?

' \‘\
\ \\\
TR

six. How many did she then have? R 1 cicEc SRl
13. If John finds 9 eggs, how many must George find : = :
to make 15 ?
| 16 2 63 6 46 5 6 6 7 6 8 6 96
6162 63 646356 67 68639
Seat Exercise.
147 = 54 7= 7+ =17
"4+ 1= 7T+ 5= 7 4+ 510
24 %= 6 4+ 7= 7+ 514
742 = ¥ 6= 7+ f16 Seat Exerclse.
3_”;;: gig; Zi — 9 1+8= 5§ =t 8+ =14
¥ 4= 447 — 9 47— o 0 | 8+1= 8+5= 8 4+ =10
8 47— 7 44— 7 49— w4 —15 24 8= 6 + 8= 84+ =9
R = ot aZ vy =12 8+ 2= 8+ 6= 84 =12
+ V= = + 3+ 8= "+ 8= 8+ =16
1. Eight and seven are how many? 2 ::_- g — g ::: g _ g -_:: :E
2. Eight and what make 157 8 4+ 8 8+4._:.: 8+9; 8 1 ;13
3. Seven and what make 157? 9 4+ 8 8 48— 04 8— 84 =17
4. Nine and seven are how many ? — — -
5. Nine and what make 16 ? 1. Eight and eight are how many ?
6. Seven and what make 16 ? . 2. Eight and what make 16 ?
7. Seven and what make 14°? st 3. Eight and nine are how many ?
8. John has learned 7 words. How many more ™ 4. Eight and what make 17 ?

he learn to know 14°? ' Gnds 5. Nine and what make 17?
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6. If there are eight girls and nine boys in the yard,
how many are there in all ?

7. If there are 17 children in the yard and eight of
them are girls, how many are boys ? _ ;

8. If there are 17 children in the yard and nine 0
them are boys, how many are girls ?

1 8 2 83 8 485 86 8 w8 8 98
8182838485868 <7 8839
Seat Exercise.

149— 54 9— 9 + -'=1;
Olepsd 9+ 5= 9 + ==15
Q49— 6+ 9 — 9 + =—‘io
942 = 94 6= 9 + ":‘12
3+ 9= "+ 9= 9 + ‘-—”16
94 3= 9 4 7= 9 + 514
449 = 8 4 9 — 9 —’«17
9+ 4= 9 + 8 = 9 + ’18
9+9= J94+9= 04 9= 9+ =

1. Nine and nine are how many ?

2. Nine and what make 18 ?

3. How many nines make 18°? . b

4. There are 8 red apples and 9 green apples in & dis
How many apples are there in the dish ? d

5. There are 17 apples in a dish. 9 of them are T°
and the others green. How many are green ?

1 9 2 93 9 4 95 96 9 7 8
9

9 9
g 2

— —
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New Class Exercise,

Purpose.— 70 Zeack to recognize instanily the

wo pards whick make each of ke numbders Jrom 2
Zo 70,

Method.—Begin with 5, as this
Or 4. Show that4+1or1+4,84+9
it until the pupils can recognize at
°f 5. So teach the component pa
from 2 to 10; thus, of 6 they are §+1 or 145,442 or 844, and
8+8. of7 they are 6+1or 1486, 54+2 or 2+5,448 or 3+4: et

Write these combinations promiscuously on the blackboard’ and
Tequire the pupils to give the sum of any couplet instantly as’ you
bownt to the couplet. Remember that to recognize the sum qf
#2ght is quite as important as to do it when the numbers are given
orally, and that the pupil may do one readily and not the other.,

Having a large number of figures on the blackboard or on s
chart before the class, point to one figure, ag 4, and then to an-
other, as 8, and train the pupils till they can give the sum “ ag
gquick ag thought.”

An exercise like this will be very useful both for its own make
8nd as a preparation for subtraction: Zeacker, « I winl give one of
the parts of 8 and the class may give the other.” T,“5;” C.,
«“g ;n T‘, “c 4 ;” C., € 4;” T., «“g ;" C" « 2’” ete,

gives more variety tha.n.2, 3,
or 248, make 5, Drill upon
8ight the two Component parts
T8 of each of the othey numbers

Seat Exercise.

1. Write each two numbers which make 2.

2. Write each two numbers which make 3.

3. Write each two numbers which make 4. FEach two
which make 5. Each two which make 6; 7; 8; 9; 10.
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LESSON [IIlI.

Purpose.——fo leack Row Lo add aeny number e;g-
pressed by two flgures, to any one expressed by ope
JPgure.

Mothod.—The first four exercises are learned by a simple
recognition of the meaning of the words thirteen, fourteen, etg,

Class Exercise.

Write 10 in one place on the board and 7 in another. < Vgt
is this?” (Ten.) “ What is this ?” (Seven.) “ Ten and seven
are how many ?” “ What do we call ten and seven?” Questijon
them until they recall the fact that ten and seven are (or are
called) seventeen. Thus proceed with 10 and 8, 10 and 4, 10 apd
9, etc. Thie is a review of the process of counting from ten to
twenty, but is now to be seen in a slightly different light.

Write 10 + 1 = ,10 + 4 = , 10 + 6 = , etc., and teach
them to fill the blanks, and perform the following seat exercige,

Seat Exercise.

10 + 1 = 10 + 4 = 10 4+ =19
10 4+ 2 = 10 + 9 = 10 4 = 15
10 + 3 = 10 4+ 1 = 10 + = 16
10 4+ 4 = 10 4+ 3 = 10 4 = 17
10 + 5 = 10 + b = 10 4 = 18
10 4+ 6 = 10 + 2 = 10 + = 12
10 4+ 7 = 10 + 8 = 10 + - 13
10 4+ 8 = 10 4+ 6 = 10 + = 14

# Tt e not necersary that these be taken in the reverse order, as 4 +10, 9+ 10,
etc., as the combinatione do not occur in this order in ordinary addition.
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1. There were ten eggs in the nest, and the hen laid
three more. How many were there then ?

2. John has ten
books and Frank
gives him five. How
many books has he
then ?

3. Mary bhas 10
flowers. How many
more must she pick
to have 16?7

4. There are 10 birds in the barn. How many more
must come to make 18?7

5. Ten and how many make 13 ?

6. Ten and how many make 17?

5 8 7 6 4 1 0 9 3 9
10 10 10 10 10 10 10 10 10 10

Recitation and Class Exerclses.

The recitations and class exercises in this lesson will be similar
to those in the last. Many other exercises like those in the Seat
Exercises will be given orally. In general, such recitation and
class exercise will consist, F¢rst, in an examination of slates, to see
if all has been done correctly and neatly; Second, with books in
hand, the pupils will read the seat exercises and tell the answers,
one pupil reading the problem and another giving the answer;
Third, other exercises will be dictated by the teacher; Fourth, con-
cert exercises on the Addition Table, and exercises in adding num-
bers written on the blackboard.
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Seat Exercise.

R0+4+3= 3045= 404+ 2= 50 4-8=
R0+46= 30+ 7= 40 +0= 504+ 1=
204-5= 304+9= 404-9= 50 4+0=
204 8= 30+4-0= 404 7= 50 4+ 7=
2041= 30+1= 40 +1= 50 4 6 =
R0 4= 3043= 40 4-3= 50 +3—=
204-9= 804-3= 40 4 8= 50+ 2=
i W a0J8= 40 + 6= 50 4- 6=
A= Bl fret= 40 4 4= 50 4 5=

1. James has found 20 ¢
more than Jam

- gs, and Frank has found 7
& OW Many has Frank found ?

2. There are thirty blackbirds in a tree, and on the
ground seven more than in the tree,
are there on the ground ?

3. There were 50 birds on tpe ground under.a treeand
9 more came. How many birds were there then ¥

4. Ann’s father was 40 yeq, old, and Mary’s father i
6 years oldcr.

How many birds

How old is -Mary’s father ?

PUPILS READING SIMPLE WORDS. 5l

5. In Frank’s garden are 40 flowers; but in George’s
garden there are 7 more than in Frank’s. How many
flowers are there in George’s garden ?

3 ¥ 8 6 4 2 1 3 2 0
50 40 20 30 20 50 40 30 50 20

Seat Exercise.

604 6= 704-5= 804+8= 90+ 2=
60+ 2= 704-2—= 8042= 904-0=
6045= V4+1= 80+ 7= 9041=
60 48— 0 4+7= 804-1= 904+7=
60 49— 70 4+8= 804+4— 90 49—
604-1—= 704+4—= 804 6= 90+4+3=
60 40= 7043= 80+4+0= 90+5=
60 +4—= 704+0= 804+9= 90 4-6=
6043= 704+ 6= 8043= 90+44=
604 7= 704-9= 804+5= 90 8=

1. James has 80 nuts and finds 6 more. How many

has he then?
2. If Mary has 70 flowers and Ann gives her 6 more,

how many has she in all ?
3. If George saw 90 birds and Frank saw 8 more than

George did, how many did Frank see?
4. John has 10 cents and his father gives him 7 more.
How many has he then ?
5. James has 70 cents in a box and 5 cents in his hand.
How many cents has he in all ?
5 4 7 3 2 1 4 3 6 7 8
80 90 70 50 80 70 10 20 40 60 60
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Second Class Exércise.

Purpo8e.— 70 leack how o add any nwumber rep-
resented by one digit to anollrer represented & by L0
digils, witkoul counting.

To teach how to find out how many 87 and 8 more make, 8
write the numbers as in the margin. F%rst, fix the attention 8/7
upon the fact that 87 is 8 tens and 7. Use the picture or 40
other objects. Second, 7 and 8 more make 15, which is 1 ten and
5. So we have 4 tems and 5, or 45. Use the picture or othe’
objects. There must be no counting. The point is to show that ¢
have only to consider the sum of TWO digits, in any case. In 1ik®
manner illustrate the process with a variety of examples.

This exercise need be continued only long enough to teach #o?
the addition is effected. The two succeeding exerciges exhibit th®
expedients by which facility is obtained.

Seat Exercise.

4 5 6 5 4: 7 3 4 8 2
290 28 18 13 12 36 42 69 45 18

7 8 9 v 6 5 8 9
3 19 77 86

s e—— cmmees 00 eemwe 0 cweeme e

8,4,5, 6,7, 8, and 9, respectively, in the units place.
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Third Class Exercise.

Purpose.—7o zeacr to recognize 2he sum of any
@igit added lo any number represented by Iwo digils,

by remembering whai digits when added give O, 7, .2,
B, £, 6, ele., i unids place.

Method.—Knowing that 9+1, 8+2, 6+4, and 5+5, each

makes 10, the pupil is to be taught to recognize the sum in such
cases as the following :

1 2 3 i 2 3 ,
19 18 17 ©%&; 959 g5 gy e
Of these there will be 81. The pupils may be required to write
them all.
8o, again, by knowing that 9+2, 8+3, 7+4, and 6+5, each

makes 11 (or 1 in units place), the pupil is to be taught to recognize
the sum in such cases as the following:

2 3 4 2 8 4
—1_9 _1_8 17 etc, ; 29 98 27 ete. ;
2 3 4 2 3 4

Of these combinations there are 72 in all. 'The pupils may be
required to write them all ag a seat exercise.

Another seat exercise may be obtained by requiring all the sim-
ilar combinations which give 2 in the units place of the sum, as,

8 4 &5 5 7 8 9
19 18 17 16 16 14 13

8 4 5 6 7 8 9
2 28 27 26 25 24 23

etc., etc., etc.

Of these there are 68, i
Proceed in like manner to teach the combinations which give
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Fourth Class Exercise.

Purpose.—7%és ezercise is buz a modified Jor™
of the preceding, and kas ke same end in view-

Method.—Write on the blackboard a line like the following:

3 8 8 8 8 38 8 3 38 8
4142484445424;_7_4849_‘_1_

—

Then call attention to the fact that as 4 and 8 make seven, 14 ax:i
3 make seven-teen, 24 and 3 make twenty-gepen, etc.; that l“r
that we have only to think what 4 and 8 make in any case. As
first exercise take only cases in Which the tens are not cb
and give several seat exercises of this character. s
Passing to the case in whufh the tensg change, BIEOW the T that
clearly as in the second exercise, but make it specially 'cle iant
the tens are only one more in 803 case, and that the‘ mlllP" ive
thing still is to recognize the sum of two figures. ana );d :
sercises like the following till the idea is fiX

anged’

t and class e
mz e 2 2 2 2 2 2 2 g
3 13 28 3 4 5 6 13 83
™ 5 5 5 5 9

GRS Al D

S 14 24 34 44 54 64 7y gL 9
i 5 5 5 5 5 5 5 5 B
6 16 26 36 46 56 66 76 86 9°
s 8 8 8 8 8 g g g Z
4 14 24 34 4 54 64 4 s 9
L A 2 T O T |
6 16 26 36 46 56 66 6 g 96

roug?
uf

- There are 100 such combinations for each digit. Give tho
drill upon them, and conclude this lesson with miscelhmeo

exerciges, continuing the lessons until the pupils . the
sum in any such case as readily as they can the sum“no]fe ctwgo digits

B Sn—
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New Class Exercise.

An excellent set of exercises can be supplied by the teacher
thus :

Teach them to count one Aundred by twos, as 3, 4, 6, 8, 10, etc.,
to 100. Then again, by beginning with one, count on by twos, as
1,8,5, 7,9, 11, etc., to 99.

When this is learned, teach them to count by threes, first begin-
ning with 3, then with 2, and then with 1. Thus they will count
“3,6,9,12, 15, etc., to 99;” or “2, 5, 8, 11, 14, etc.. to 98;” or
“1, 4, 7, 10, 18, 16, etc., to 100.”

Again, count by fours, first beginning with 4, then with 8, then
with 2, then with 1. :

Again, count by flves, by sizes, etc., to nénes, in each case start-
ing with each lower number. »

This will readily be seen to be a most important exercise, and
one that should be kept up for days, and perhaps for weeks, though
it need not prevent the pupils from going on in the book, but may
be made a frequent oral or slate exercise, as thought best by the
teacher.

For Seat Exercises of this kind, tell them to write the numbers
up to 100 by twos, as 2, 4, 6,8, 10, etc., and so of all the other com-

binations here suggested.

Seat Exercise.

1. How is Mary counting when she says “3, 9, 15, 21,

etc”? Count thus to 99. A
2. How is one counting who says “2, 10, 18, 26, etc.” ?

Count thus to 98. »
8. How is John counting when he says “7, 16, 25, 34,

ete.”? Count thus to 97.-
4. By what is James counting when he says 5, 9, 13,

17, ete.”? Count thus to 97.
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Al | LESSON 1V,

| \ Purpose.— 70 teack Zow 2o add any number of
numbers ezpressed by one flgure each, whose eniire
sum does not exceed one hyndred.

1 First Exercise.®

1. Here is an old barn, and in the yard are 4 hens with
chickens. One hen has 5 chickens, another has 8, another
has 6, and the other has 7. How many chickens are
there in all? How many are 5 -+ 8 4+ 6 4+ 7°?

| ¢ Hereafter, suggestions npon class exercises and recitations will be put in

I% foot-notes. Ewery new process should be introduced by a familiar class éxerciss

| which will prepare the pupils to perform the seat exercise intelligently.

' The class exercise to be given before this seal exercise 18 assigned, will con-
slst in showing with the counters, numeral frame, pictures such ae those on
pages 10, 11, 19, or other objects, how to add several numbers expressed by one
figure each, Thus, suppose we wish to add 5,4, 8,7 and 6. Have one pupil

PUPILS READING SIMPLE WORDS. 5%

2. Mary has 4 flowers and Jane gives her 3 more. How
many has she then ? She then finds 2 more. How many
has she then? When she brings them in, her mother
gives her 1 more. How many has she in all? How many
are4 4+ 3 2417

3. How many are 4 and 8? How many are 12 and 5°?

How many are 17 and 6? Then how many are 4 4+ 8 +
54 69

4. Here is a beautiful plant.
On one stem are 5 flowers,
on another 7, on another 6,
and on another 8. How
many flowers are there in
all? How many are 5 and
7? How many are 12 and
6? How many are 18 and
8? Thus, how many are
54+7+4+6487?

5. Eight apples in a dish, 4 on the table, 7 on the floor,
and 9 in the chair, make how many apples ?

6+4+8+5+3=howmany?

74+6+4+4+34+2+ 1+ 5=how many?

o> 0w » o
TR
[0 i = 0 2
|'-*-zw-c5woo
o o200 ©
|20 = 20w » o
[:o'-:goooam-m

‘put 5 counters in a pile, another pupll 4 in another pile near the first, another
pupil 8, another 7, .and another 6. Then let them see clearly what the purpose
is, viz.: to find how many there are in all without counting them one by one.




|
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Second Exercise.

1. Frank bought a top for 8 cents, some nuts for 5
cents, a kite for 9 cents, a hoop for 7 cents, and a little
book for 6 cents. How many cents did he pay for all ?
8+5+9+7+6=h0wmany?

2. Mary bought a doll for 54 cents, a little.book for 8
cents, and a hoop for % cents. How much did she pay
forall? 54 + 8 + 7= how many?

3. George bought a sled for 85 cents, a rope for 8 cents,
an apple for 1 cent, and some nuts for 3 cents. How

much did he pay for all?

0 WV Gt W i O =2
lc:-!th&H@ﬂk
II'FHCRNQDFP@QD
=YW OotW R 3
lom o wooa
QLRI OO OB
R0 ~F .2 O O O
LTI

—

8+4+5+8+7+5+4+ 9=how many?
5+8+4+2+141+ 3+ 8+ 4=how many?

Put the 4 with the 5 and ask, ‘** How many in this pile?* (9.) Then the 8,
asking as before ; then the 7, then the 6. S8how also how to add the numbers
when written in a column, and when written 5+4+8+7 +6.

When the pupil hesitates in adding, as when he has 20 and the next figure i8
7, a8k, *“ 9 and 7 give what figures ? *’ thus teaching him to use the knowledge
already gained. Pupile must be trained in this manner so that they wil not

think of counting.

These exercices are by no means sufficient to secure facllity in adding.

Weeks of drill are necessary. This may be kept up as 8 daily exercise while the
pupil proceeds with other legsons,
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LESSON V.

Definition Exercises.

Purpose.— 7o Zeack the Meaning of trhe words
Nwember, Add, Addiiion, Swum, and Amount, so tial
e pupi? carn undersiand them when used, and canr
wse Lrlerrn. '

Method.—Ask questions involving the word, and if the child
does not catch the meaning, put the question in a familiar form,
and repeat the process till the purpose is accomplished.*®

First Exercise.t

'
o gt RS
Wk, g, . "
F Ro 2 "t -~ ot P =

AL AT V2 - s{“': 5.1"“ Y3 . vinds

1. What number of boys do you see in the picture?
What number of men ? What number of trees?

* F'ormal definitions are out of place here, and all such guestions as * What
is number? " * What is Addition?* etc. To teach to percelve and to conceive
constitute the purpose now ; to formulate thought is a later process, and to ob-
tain ideas from formal statements and definitions a still later one.

.+ This muset be preceded by an oral class exercise. 1. Pﬂl-lt.the ~word
Number on the board, and teach it, if necessary. Then sk, * WhatRudar
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2. How many ducks do you see in the picture? Ask
the same question and use the word number. Asgk the
same question about the barrels and use the word num-

Second Exercise.

1. What is the sum of 5,8, 4,% and 6?
2. What is the sum of 27 and 8 ?

ber. ,
3. If you add the number of men in the picture to the i gvvlil:: ilz :}}: © a,moun: Oﬁ ; 5;) S gLk
number of boys, what number does it make? If you add ' o g o onaNiOtad ShEhand ]
3 , y 5. What is the sum of 63 and 5 ?
the number of barrels to the number of ducks, what is 6. What is the amount of 81 and 9 ?
the sum ? . 7. What do you eall finding the sum of several
4. If you add the number of trees, barrels, and ducks, numbers ?
what is the sum? What other word can you use for 8. Add the numbers 8, 4, 7, 6, 5.
LR 9. Add the numbers 10, 4, 8, %, 9,
5. Ask a question like the last about the trees, men, 10. What number added to 5 makes 9 ?
and boys. 11. What number added to 3 makes 7?
6. What will be the sum if you add the number of boys 12. What number added to ¥ makes 15°?

) : 13. What number added to 9 makes 13 ?
sk the same question about i e
and the number of ducks? A 9 14. Find the sum of 8, 7, 6, 4, and 3,

the trees and ducks. About the boys and trees. 15. Find the amount of 20, 6, 8, 4, and 2.

, th ber of
7. If you add th;;l numbetl; of Zt?u:ozi esfeet ewlll;;rtn gl 16. When- you put several numbers together, what do
your hands, and the number 3 > you call the number which they make ?

sum ?

of hands have you, John?" * What number of fingers have youn, Mary?* etc.
If they do not answer readily, put the question thus: ** How mgny hands hab::
you?* Then put it as before. Then of objects out of sight. What numtllc
of legs has a kitten?" etc. Again, put figures, as 5, 8, 10, 82, 8'7,"etc.. onN :
board, and ask, * What number is this? "f ‘l‘]thlllat n::nber is this? " etc. Num
ny, 18 the child form of the thought.
be;?lﬁ;!f‘;%m Z;zmbera 5 and 8, what number does it make?* So of obtl;:;
numbers. If they do not catch the meaning, ask ** If I pul logether the ,l’mm
5 and 8, how many does it make?* or, ** What number does it make ? _—
3. “If I add 8 and 4, what is the sum 2 or, “If I add 8 and 4, bow s
does it make? " ete. “ If1 add the numbers ¥ and 8, what number is the “;”I:aw
‘ etc. Use the word amount in the same manner. Sum or amount mean
1 ¢ makes, will be the child thought, ]
ma:y‘fln all y:)ur lessons for some time you have been putting numl:oel‘tl;l it:)
" gether to find out how many they make. (Turn back and show them vy
This is called Additton. What have you been studying? What is pu
numbers together to find how many they make called ¢ **

| TT——
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SUBTRACTION,

o,—70 leack rRow 2o recognrize lke 7e-
Pz'l:zl;d'e’y? sw/;en any nummber less than 70 is taken
7;2;5”” any number whick is composed of 2wl recwurrn—

per and any numoer less tran 70.
- Method.—Consider what it takes with the given number to

make the one from whick it 18 to be taken.
h Counters, and with the Numeral Frame, that as

Tllustrate wit 4 from 9 leaves b, and also that 5 from 9 leaves 4

and 4 ma.ke 9) o
]530 sure that both facts are recogniz -

First Exercise.

: tock.
re are 3p1nkS ?n & B :
1. ?n}::ay will be left if you pick
Ho“; The one picked and the 2 left
one 1 and what make

w many ?
gl;e h; trom 3 leaves how many ° 3

9
1 is how many:
le828 If you were to pick two of the

pinks, how many would beleft ? The

. 1od and the 1 left are how
1211311)11;731;62 and what make 3? 2 from 3 leaveshow many ?

3 less 2 is how many ? '
3, If you have 7 apples n
two piles, and there are 3 in
one pile, how many are there
in the other ? 3 and what
make 7? 3 from 7 leaves

how many ?
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4. If you take 4 apples from a pile of 7 apples, how
many will be left? Why ? (Because 4 and 3 make )
7 less 4 is how many ? 7 less 3 is how many ?

5. Two and 5 make how many? 2from 7 leaves how
many ? Why? 5 from 7 leaves how many? Why?

6. A boy has 6 cents in one pocket and 3 cents in the
other. How many has he in all? What do 6 and 3
make ? If the boy loses the 3 cents out of one pocket,
how many has he left ? How many had he at first ? How
many did he lose? How many has he left ? 3 from 9
leaves how many? Why ?

1+ =1 1 from 1 leaves how many ? 1—1—=*%
14+ = 2 1 from 2 leaves how many ? R—1=
1+ = 8 | 1from 3 leaves how many? | 31—
1+ = 4 | 1from 4 leaves how many? | 4—1—
14+ =5 1 from 5 leaves how many? | 5—1=
14+ = 6 1 from 6 leagves how many ? 6—-—1:
1+ =7 | 1from % leaves how many ? 7_1:—:
1+ = 8 | 1from 8 leaves how many? | 8—1=
14+ = 9 | 1from 9 leaves how many? | 9—1=
1+ =10 [ 1 from 10 leaves how many? | 10—1=
1 2 38 4 5 6 7 8 9 10 1 2
i1 1T 1 1 1 1 1 1 1 o0 o0

7. Count backward from 10 to 0, by 1; thus, 10, 9,
8, ete. From 9 to 0. From 8 to 0.

8. Count backward from 7 to 0, by 1; thus, 7, 6, 5, ete.
From 6 to 0. ¥rom 5 to 0. From 4 to 0. From 3 to 0.

This is an important Drill Ezercise, and the teacher should be
careful to have it thoroughly understood.

® Teach how to read this column. This and the corresponding columns in
the subsequent exercises are to be thoroughly memorized.
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second Exercise.

| . o 9and |
| main ? " 6 leaves how

N fnz;:yf;o 6 less 2 i8 hoW
P i

mazny ;I‘here are egg; ;- =Tl
in the upper nest and mor:;
the lower- How many i
eggs are there in the 121p1]):1 ;
than in the lower ? " a5 L)
how many more make !
9 from b leaves how many
3. Mary has 7 cents and
Frank has 2. How man;;
more has Mary than Frank:
| 9 and how many more make

SUBTRACTION—EXERCISES FOR

v? 2 from 7 leaves how

; ma.ny ?

from 5 leaves how many ?

5. Make 7 marks in & TOw on your
gate. Then make two marks under
them. How many marks have you in
f all? If you take away the 2 marks,

oo,

| 4. Henry is 2 years old. How many more years must
| he live to be 5 years old? 2 and how many make 5? 2

/177177
//
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how many of the 9 marks will remain ? 2 from 9 leaves
howmany? 2 andhow many make 9? 9—2ishow many ?

2+ = 2 | 2 from 2 leaves how manv ? R—2=
24+ = 3 | 2 from 3 leaves how man}? 82—
24 = 4| 2 from 4 leaves how many ? 4—2:
24+ = 9 | 2 from 5 leaves how many? | 5 2———
2+ = 6| 2 1from 6 leaves how manyg" 6_2:
24+ = 7| 21from 7 leaves how many ? 7:2:
24+ = 8| 21from 8 leaves how many ? 8-2:
24+ == 9 | 2from 9 leaves how many ? 9—-2:
24 =10 | 2 from 10 leaves how many ? 10—2:
24+ =11\ 2 from 11 leaves how many ? 11...2_:_
2 3 4 5 6 7 8 9 10 11 2 3
R 2 2 2 2 2 2 2 2 92 9 0

— ceme— emtms— ee——

|

— ew— —

Drill Exercise.—Conclude eack of these lessons by drill exercises
in counting backward ; thus, here have the pupils count backward
from 11 to 0, by 2 ; then from 10; then from 9, etc. Conclude the
next exercise by counting backward from 12 to 0, by 8, etc.

Third Exercise.

1. Little May is but 3 years r—— -
old, and her brother Frankis 7 =+ . =
years old. How many years older
is Frank than May ? 3 and how
many make 7? 3 from 7 leaves
how many ?

2. Make 9 dots on your slate,
putting 3 in one group and 6 in
another. 3 and how many make
9?7 3 from 9 leaves how many ?
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\ 3. A man had lost 3 fingers from one hand. How
| had he left on that AP R Y

‘\ mdny
‘1 hand, counting the thumb ?
: 4, There are 8 books qn
| ] How many Wwill
Frank has
3 small ones
taken tl;ea,nd what make

e

\\\ ZV‘;a‘yg from 8 Jeaves how ¢ /‘f.":"/‘V .
| bl il 9. Little l}lay 18 but 4 years olq. How
h 3 3 from 3 leaves how many I 3~3= pefore ghe will be 11 years old ? 4 ang b many years
3+ . | 3from 4 leaves how many? 43— 4 from 11 leaves how many ? What make 117
gj_’ ; 5 | 3 from b leaves how many ? 5—3— 3. Five tops and 4 tops are how many topg ?
AT 3 from 6 leaves how many? 6—3— | 4. Nine tops are how many more than 5 11-,): ; ?
gy =1 3 from 7 leaves how many ? 1—3= 5. Nine tops are how many more thay 4 tOps :
g4 =8 3 from 8 leaves howmany? | 8—3— 8. Mary has 13 cents and Carrie hag 4 I};{S ;
gy =9 3 from 9 leaves how manyz P more has Mary than Carrie ? . OW many
34 =10 |3 from 10 leaves how many? | 10 —3— 4+ = 7| 4from 4 leaves how many ? | 1 h
a1 | 8 from 11 leaves how many? | 11—3— 41 =10 | 4 from 5 leaves h y 0—4—=
_19 | 3 from 12 leaves how many? | 12 —3— PEmMAny B |} Brd=
3+ e 7 8 9 10 11 12 38 5 44 = 4| 4 from 6 leaves how many ? | 4—4=—
3 4 g ol T 5 2 g o "0 44 =13 | 4 from 7 leaves how many? | 6—4—
11 38 3 2 2 Z = = — 1+ = 4 from 8 leaves how many ? | 11—4=
| | 44+ =11} 4from 9 leaves how many? | 9—4=
Fourth Exeroise. 44+ = 5 | 4 from 10 leaves how many ? | 5—4=
' 44 8 | 4 from 11 leaves how many ? | 7—4=
years old, but he be- 44+ 6 { 4 from 12 leaves how many? | 13—4=

gan going to school 4
years ago. How old
| was he when he began

togo toschool? 4 and
) what make 10? 4 from

|
j 1. John is now 10
1

|

5 4° 12 10 13 8 7 9 4 5
4 4 4 4 4 4 4 4 0 O

44+ =12 | 4 from 13 leaves how many ? | 12 —4=
6
4

10 leaves how many ?

- e “
D Y Bl el
1
)
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: . Sixth Exercise.

1. If I buy a book for 6
the bookseller a dime (t::;nzz:;()i, hlf':g
much change must he give me? ¢ anid
what are 107 6 from 10 leaves how many ? "

9, If I owe the postmaster 6 cents, an.d Bandribi : 5
cents, how much change must he give me? 6 a.ndu?vhai
make 157 6 from 15 leaves e -
how many ?

3. There were 15 peaches
on the tree. How many are
there now ? Jane picked the
others. How many did she

Fifth Exeroise.

pick ?
th;tl i’)f?you have 5 apples, how many more must you get 4. There were 15 pe?,ches
to have 12 o 12 is how many more than 5? 5 from 12 on the tree, and Jane picked
Jeaves how many ? 6 ofthem. How many areleft?

3. How many days in oné Week ? After 5 days of 8 64 =10 | 6 from 6 leaves how many? | 6—6=
week are gone, how many aro left? 7 — 5 = how many? 64+ = 7 | 6from % leaves how many? | 10—6=
5L = 8 5 from 5 leaves how many ? i 11—5= 6+ =9 6 from 8 leaves how many? | 15—6=

| 54 = 6 | 5from 6 leaves how many ? 6—5= 6+ =11 | 6 from 9 leaves how many? [ 13—6=

| 54 =11 | 5 from 7 leaves how many ? 85— 6+ =— 6 | 6 from 10 leaves how many? | 12—6=

| 54 =9 | 5from 8 leaves how many? | 10—5= 64 =12 | 6 from 11 leaves how many? 8—6=

{‘ 54 = 5 | 5from 9leaves how many? | 13—5= 6-+ =14 | 6 from 12 leaves how many? | 9—6=

{ 5+ = 17 | 5from10leaves how many? | 12—5= g+ f13 6 from 13 leaves how many? | 7—6=

| 54+ =12 | 5 from 11 leaves how many ? W 5= 6+ :15 g gzm 1;4 leaves how many? [ 11—6=

“ 54 =14 | 5 from 12 leaves how many ? 5 5= + = m 15 leaves how many? | 14—6=

; 54 =10 5 from 13 leaves how many ? 9_.5= 12 - 6 8 "y 11 13 15 14 9 10 6 3
54 =13 | b from 14 leaves hoyw many? |. 14—5= 6 6 6 6 6 6 6 6 6 6 9— 0

4

| 5 5 5 5 5 b 5 5 g

—_— e s cemes em—n

——
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gseventh Exercise,

1. John had 11 cents, a0d bought a slate for 7 cents.
HO‘;V many cents did he have left ? 7 and what make
11?7 7 from 11 leaves how many ?

9. Frank has 7 cents. HOW many more must he earn

have 13 cents ?
t03' Mary has 15 flowers and her brother Henry has 7,

more has Mary than Henry ? -

man .
H(;:V Fronf g flock of 12 chickens a fox caught 7. HoW

were left ? '
mag,lyFrank had a ball worth 16 cents, and James had 2
top worth w cents. HOW Much more jg the ball worth
than the top? If they tl:ade’ how many cents ought
James to give to Frank b.emdes giving him his top ?

6. If a spool of thread 18 Worth 7 cents, and I hand the
merchant 10 cents for one, hOW much chan ge must be
give me?
oL =0 ¥ from 7 leaves how many ? 1 p—=
wy =15 | 7from 8 leaves how manye | 10—7=
74+ =10 ( 7 from 9 leaves how many? | 16—7=
vy =8 | 7froml10 leaves how many? g_1=
74 =11 | 7 from 11 leaves how many ? 11—7=
"4+ =13 | 7 from 12 leaves how many ? 15—7=
¥+ =12 | 7 from 13 leaves how many ? 19— 1=
v+ =14 | 7 from 14 leaves how many? 9_8=
74+ = 7 | 7from 15 leaves how gy =

y? | 13
74+ =16 | 7 from 16 leaves hoy many ? 14—7=

6 12 7 8 10 11 13
77777771:3

Ottt 000 cmmas  cteems s Smem—ma e
——
—

" the merchant 15 cents.
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Eighth Exercise-

1. Mary had 13 cents, and bought a ribbon for 8 cents.
How many cents had she left? 8 and what make 13 ?

2, John bought a lead-pencil for 8 cents, and handed
How much change must he re-

ceive? 8 and what make 15?7 8 from 15 leaves how

many ?
3. When May had learned 17 words, her brother Frank

had learned 8 less. How many had Frank learned ?
4. 6 and 8 are how many? 6 from 14 leaves how
many ? 8 from 14 leaves how many ? How would yon

illustrate this with the counters ?

g4 =12 | 8 from 8 leaves how many? | 11—8=
84+ =10 | 8 from 9 leaves how many? | 16—8=
84+ = 8 | 8 from 10 leaves how many? 17 —8=
84+ = 9 | 8from 11 leaves how many? | 8—8—
84+ =17 | 8 from 12 leaves how many? | 10—8=
84+ =13 | 8 from 13 leaves how many? | 12—8=
84 =15 | 8 from 14 leaves how many? | 14—8=
84 =14 | 8 from 15 leaves how many? 9—8=
84+ =11 | 8 from 16 leaves how many? | 13—8=
84+ =16 | 8 from 17 leaves how many? | 16—8=

8 10 9 17 15 11 13 12 16 14 8 3
8 8 8 8 8 8 8 8 8 8 00

———
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Ninth Exeroise.

1. Make 17 marks on your glate in two rows, 9 in one
row, and 8 in another row right under the first row. How
many marks have you now in all? 71t you take the 9
away from the 17, how many will remain ? If you take
away the 8 from the 17, instead of the 9, how many will
remain ? 9 from 17 leaves how many? Why ?

2. If you take 9 from 16, how many will remain ?
Why ? How would you illustrate it with the counters?

3. James bought a book for 9 cents, which took all the
money he had but 4 cents. How much dig he have 8%
first ? 9 from 13 leave how many?

4. If John buys a ball for 9 cents, and hands the mer-
chant 15 cents, how much change ghonlg he receive ?

5. Mary is 18 years old, and her little sigter Ann is D%t
9. How much older is Mary than Any p

9 4 =10 9 from 9 leaves how many? 12 —9=
94 =17 | 9 from 10 leaves how many ? 9—-9=
94+ =11 | 9 from 11 leaves how many? | 11—9=
94+ =15 | 9 from 12 leaves how many ? 18— 9=
94 =12 | 9 from 13 leaves how many? 16-——‘95
94 = 9 | 9from 14 leaves how many ? 10—9= |
9+ =13 | 9 from 15 leaves how many? | 13—9=
94 =18 | 9 from 16 leaves how many? | 15—9=
94+ =16 | 9 from 17 leaves how many? | 14—9=
94+ =14 | 9 from 18 leaves how many? 17 —9=

g 2 27 2 2 % %9 9 9.9 0 9

—— y—

— —— -

—
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Definition Exercise.*

1. There were 8 roses on
the bush, and Mary has sub-
tracted 8 of them. How
many are there left ? 3 sub-
tracted from 8 leaves how
many ?

2. There are 7 eggs in the
nest. If you subtract 3, how
many will remain? If you
subtract 4, how many will
remain ? If you subtract 3 from 7,
what is the remainder ? If you sub-
tract 4 from 7, what is the remain-
der ?

3. If you subtract 2 from 5, what
is the remainder ? If you subtract 3

from 5, what is the remainder?
4. If you subtract 5 from 9, what is the remainder? If

you take 8 from 9, what number is left ? (These ques-
tions mean the same thing.)

5. If you subtract 2 from 8, what is the remainder? If
you take 2 from 8, what number is left ?

6. If you subtract 3 from 9, what is the remainder ?
Ask this question without using the words subtract and

remainder.
7. If you take 8 from 12, what numberisleft ? Ask the

same question and use the words subtract and remainder.

* For the general character and spirit of the oral exercise which precedes
thiy, see foot-notes, pages 58, 60. Sudlract and remainder ave the words whose

use is to be taught in this exercise.
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8. Supply the proper words in the following :

If I —— 6 from 13, what is the ?

What is the when you 7 from 11 ?
When you ——— 8 from 17, what is the ———?

from 20?2

PUPILS READING SIMPLE WORDS. 5

6. What number does 4 + 7 make? What number
does 3 2 make ? What is the difference between 11 and 57

7. From the sum of 4 and 3 subtract 5.

8. From the - of 2, 5, and 6, subtract 8 p

9. Add 3, 4, and 7, and from the amount gsubtract 9
What word could you use instead of amount in askin .
this question ? What instead of subtract ? 3

What is the —— when 9 is
_ 10. From 3 + 2 4 4 + 1 subtract . What number is

| N ] 34+24+4+17
| H second Definition Exercise, 11. What is the between the — of 5, 2, and
—— 1, and 3, 2, and 2? How much is 54+2+1? How much

| | many books are
1. How Sl E o anany 342427

table
on the chair? How

| are on the

|

‘J many mMOTe books are there
|

|

~

Drill Exercises.*

the
the table than on.

gllllair » What is the differ-
ence between 8 books and 5

| ' ks ?
Fi bo; If an orange costs 7 cents and a lemon 5 cents,

| whf;t is the difference beimfeen the price of an orange and
l the price of alemon? What isthe difference between 7 and 5?
“ 5. What is the difference between 10 dollars and 6

dollars ? | .
4. John worked 9 hours and Henry worked 5 hours.

How many more bours did John work than Henry ?
What is the difference between 9 hours and 5 hours ?

5. What is the between 11 and 6°?

‘What is the when you take 6 from 11 ?
| What is the between 8 and 39
I If you 7 from 15, what is the
| How do you find the between 10 and 7 ?

Ans. 1 v from 10-

1. 443—2+46+4+1—8+5—2=how many?

2 56—2+7—6—3+4+8—4+6=how many ?

3. 14+2+43+4+45—83-247—6=how many ?
4. 44-8+4+6—9—4—147—846=how many ?
5. 13—6—447—5—8—3+7=how many?

6. 17—9—5+2+4+8—6+4—1=how many ?

?. 7+8—9—2+4+6—7+2—83=how many ?

* The teacher will need to explain fnlly, and illustrate by a number of
examples, before the pupils are required to stndy these exercises. It is a
most valnable exercise for clase drill. Name numbers in this way, and let the
pupilse anewer. Thus, af firs{, the teacher says, **4+3%"—the pupils, in con-

- cert, **6:" the teacher, ** plus 5''—the pupils, ** 11;" the teacher, ** minus 4"—
the pupils, *7,” etc. After a little concert answering of this kind, {. e., after
each number, let all follow silently, as the teacher says, **2+8+4—6—1+8=
how many?' Then all who know raige the hand. If their results do not
agree, try it again and again. Such an exerciee as this should be kept up fora

. week or two as the main exercise with the class, and should always be used

? with frequency as a general exercise for the school. For the more advanced,

it may include multiplication and divieion,
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8 2434+7—94+5—6+4+7—8—how many ? 4. Frank earned 6 cents Monday, spent 4 cents Tues-
9. 64+74+56—9+4+3—8—247=how many ? day, earned 7 cents Wednesday, 4 cents Thursday, spent
10, 15—8—4—2+4+6—4—2—1—=how many ? 5 cents Friday, earned 8 cents Saturday, and put 7 cents
11, 16—7—6+44-2—6—3 +9—how many ? In the migsionary-box -on Sundsy. How much of his
12. 1142—6—38+4-5+2—4+1=how many ? Week’s earnings had he left ?
I 13. 10—83—2+7—8—3 4 6—4=how many ? 5. There were 11 boys at play in the yard, when 5 of
| [ 14. 6+9+2—8—2+4—6+3=how many ? them went home, 2 went off to play with some other boys,
i 15. 14—6—5+38+2—3+2+4-4=how many ? 80d 4 new boys came. How many boys were there in the
16. 94+7—8—2+43—4—3+7=how many ? yard at lagt ?
17. 846+2—7—5+38—1+3=how many? 6. Frank found a hen’s nest with 9 eggs in it. He took
18. 64+7+4—9—3+6—4 4 8—=how many ? out 3, and two days after found that the hens had 1laid 5
i 19. 3+8+4-2—~7—6+4+5—9=how many ? more ©ggs in the nest. He then took 6 out of the nest,
i 90, 6—4+2+2+3+43—6—6=how many ? °W many did he leave in the nest at last ?
| j 7. John has 17 cents. He .lost 5, spent 4, earned 3,
| 20d gave away 6. How many had he then?
| 8. A man has agreed to work 9 hours. How many

More hours has he to work after he has worked 5 hours ?
©88 5 is how many ?

9. 1 :
1. John had 5 cents and 6 cents. He then spent 8 5 bought an orange for 5 cents, and handed the gro-

°F & pi orth 10 cents. How &
I cents, and afterward earned 4 cents. How many had he Mgy, i: cgei;): ;:: r;ey o ’ YT Sheney

I then ? 10. I gave a boy one dime, and he gave me a glass of

{
!
|
( Practical Exercises.®
|

| 2. Mary was very fond of flowers. She. had 8 little cl.jesmtlts worth 8 cents. How many cents should he
| plants, but 3 of them died. Then her cousin gave her 4 &ve me in change? 8 and how m any make 10 ?

| plants. How many had she at last ) L. A man has 11 miles to ride. How many more has
| 3. Henry had 15 cents, and spent 6 cents for an orange, b ride after he has ridden 6 ?

" 1 cent for a pencil, and 3 cents for some nuts. How
‘E many cents had he left ?

-

* The teacher should illustrate these examples ing the counters fof
cents. Thus, for the first, put out . 7y Haing

Quostion the pupils gg

five counters and then 6. Take 8waY b1
to what the number {a each time.

then add 4,
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4. 1 4+ 1 4 1 =how many? How many times 1 are

MULTIPLICATION. 1+141? 3 times 1 are how many?

5. If your mother give you 1 cent each day for 4 days,
Purpose.—70 Zeack how 20 firnd out the product how many times will she -have given you 1 cent? How

of any number less than 77 multiplied oy any rene- ; .
ber less than 77, and to fix the resulls in memory; ;l;zlchents will you have? 4 times 1 cent are how many

o €5 Yo learn Lhe multiplication table 2o 70 Zimes 70.
6. 14+14+1+1 = how many ? How many times 1 are

| ‘ Method.—Teach the pupil to find out the product by adding the :
g 14141412 4 times 1 are how many?

| ‘{\ number to itself the requisite number of times.
I 7. If Jane breaks 1 needle each day, how many does

. First E"°"°is°-f o she break in a week (6 days) ? How many are 6 times1?
1. If you pick a cherry and put it in your hand, and 8. The sign x means #¢mes, and we read 3 x 2, three
then pick another, how many cherries will you have ? times two.

How many times
have you picked 1
cherry ? Two times

9. Read 4 x1,3x1;5x2, 6 x4*
10. Read 3 x2,4x %7, 5§ x6,8x9, Vx4

;. 1 cherry are how- s e $1 x 1=
] many cherries ? 141= | 2x1=
‘\ 2. 1 + 1 = how 14141= 3x1l=

many ? How many 1+1+1+4+1= 4x1=
| times 1are 1 + 17? 1+14+14+141= bxl=
Two times1 are how 1+14+14+1+1+1= GXIf
many ? 1+14+14+1414141= Txl=
3. It ek 1 14+14+14141414141= 8x1=
8 s 141414+1+14+1414141= 9x1=.
: E

14+1+4+1414+14+1414+1+1+41=] 10x1=

i 1 1 1 1 1 1 1 1 1 0 O
1 2 3 4 5 6 7 8 9 10 1 4

other, and then an-
other, how many
times will you have
picked a cherry?

——— — — st ettt e st e

| > L P 2 * These paragraphs will need careful explanation before the pupil is required
i HOW many cherrles WIH y ou ha’ve . 3 tlmes_ 1 Chel‘l'y to study them. 8how by the Numeral Frame what is meant by ** 8 times 1,” ete.

thoroughly committed to memory.

{

E are how many cherries ? "+ Thie column is to be copled by the pupil, the results written, and the whole
|

l

| .
i * Multiplication 18 to be taught as based on addition. Counters and the Ny
meral Frame will be of constant service. Explaln the use of the sign x, rcad-
Ing 3 x4, ¢ 3 times 4," etc,
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Second Exercise,

1. There are 2 cherries in each
bunch, and 2 bunches. How many
times 2 cherries are there on the
twig ? How many cherries are there ?
9 times 2 cherries are how many
cherries ? |

9, 2-4+2=how many? How many times 2 is 2 + 29
9 x 2= how many ? |

3. John staid out of school 2 days to visit his uncle, 9
days because he was sick, and 2 days he played truang,
How many times did he stay c?ut 2 days? How many
days did he stay out in all? 3 times 2 days are how many
days?

4, *2 + 2 +2 = how many ? How many timeg 9 -
242+2? 3x2are how many ?

5. Jane found 2 eggs on Monday, 2 on Tuesday, -
Wednesday, and 2 on Thursday. How many times giq
she find 2 eggs? How many did she find in all ? 4 tjpy.
2 eggs are how many eggs ?

6. *24+-24+242=how many? How many times 2 jg
24242422 4x2=how many ?

®, 4 times 2 are how many? If 4 times 2 are 8, how
many are 5 times 2? How many 2’s must you take wtb
4 times 2, or 8, to make 5 times 2 ?

* The pupil 1s expected to perform the addition, thus keeping up a drill is
udding.

|
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-~ 8. 6 times 2 are 12. How many are 7 times 2?7 How
many 2’8 must you put with 6 times 2, or 12, to make 7
times 2 ?

9. 8 times 2 are 16. How many are 9 times 2 ?*

242—= 2% 2=
R4+-24-242= 4x2=
RF2+24+24+2= : 5x2=
24-924+2424242= 6% 2=
24+2424+24+24+242= N A=
242424242424 242= Sscd=
R+24+24+24+24+242424-2= 9% 2=
2424242424+2424+24+242=| 10x2=

2 2 2 2 2 2 2 2 2 0 1 2
2 3 4 5 6 7 8 9 10 2 2 2

= — — — —_— — mtenen

Third Exercisg,

1. Frank spent 3 cents
each day in the week except
Sunday. How many times

did he spend 3 cents? How
many cents did he spend in
all? 6 times 3 cents are how many cents? ‘

2. 3+3+43+8-+3-+3=how msny ! Howmany times
3is34+3+3+34+3+3? 6x3are how many?

* 8pecial pains ehounld be taken to have the pupil see the process as encces-
sive additions of the same number, 80 tbat if he knows what 7x6 is, he can tell
what 8 x 8 is, etc.
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day of the w
orge reads 3 pages each day eek. Jy
31.1 (tmfs 3 pages does he read ? How many are & X;w
many 3+3+3+3+3+3= how ma.ny.? How -
4, 3+ +3+3+3+3? 7 times 3 are hlly
O

many ? ; h day for 4 days ang
hing eac ) Cca,
5. Jametsdgo"’S aHﬁ: w many does he catch in g] ? tﬁh%
0 fish each day- 5 times 0 ? T Oow

many 8°° R many more 3’8 ar .
6. 4 times 3 are 12 How many ® 5 timg,

3 than 4 times 3?7 How many are 5 times 3 ?
. ¢ times 3 are 18. How many are 7 times 3 p

8. 8 x3=24 Howmanyare9><3? 103 ¢

a know how many 5 times 3 are, how cap Yo

(8
te]?.ﬁ'lcfmythis how many 6 times 3 are ?
3434+3= 3 5 3
34+3+3+3= 43—
34+34+3+34+3=  Bxao
3+3+3+3+3+3= . 6 % 3—
3+4+3+3+38+ +33+38= o
3+3+43+3+3+3+3+3= 85—
34+34+3+3+4+3+3+3+3+3= 9% 3—

3+3+3+3+3+3+34+3+3+3=] 10x3=

3 3 3 3 3 3 3 3 0 8 3
3 4 6 8 7 4 5 8 5 7 10
aial Al | 1 0 .
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Fourth Exercise.

1. How many legs has'1 lamb? Five lambs have how
many timeg ag many legs as 1 lamb? How many legs
have 5 lambs ?

2. How many legs have 4 lambs? How many times as
Many legs ag 1 lamb?. How many are 4 times 4 ?

How many legs have 6 lambs? How many times
8 many legs ag 1 lamb? Six times 4 are how many ?
11 Seven lambs have how many times ag many legs as
dmb ? % Jambs have how many legs? 7x4=how
Inany P
. 5. James bought 8 oranges and gave 4 cents for each.
i Many times 4 cents did he give for all his oranges ?

H%w Many are 8 times 4 ?

Illa,. 4T4+4+44_4+4+4+4+4=howmany? How

< times 4 are 4+ 4+4+4+4+4+4+4+47 IXE
y ow many? i

tha. 3 timeg 4 are 12. How many more 4’s are 4 times 4
31»1 3 times 4? How many are 4 x4°?

* 5X4=290, How many are 6x4

9 ? Mx4? 8x47?
cip 10x4? How man

y more do you take each

time >




i 444 Afa=—
i 4444444 44—
| ‘\. 4444444444 4=
| 4tdt4+44+4+444=
\ | d4444+4+44+44+444=
H 44tdtdrdtd444444=
\ 4444 4+A+444 44 4a 44 pa—
| ey 4 £ 4 4 3
| 5 7 4 6 8 10 9 3
| G bl gl gl 292 3
|
1 3 2 3 1 3 0 1
gewg 8 5 5 8 4 4

Fifth Exercise.
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4 4=
dx4—
6 x4=
Tx4=
8 x4=
94—
10 x 4=

o 3 5o 55 5 5 3 58 3F

1. How many points has one star ? How many h
7 stars?

gtars? How many have 6 stars?
9 stars? 10 stars?

9. Six stars have how many times as many point®

ave 5

g star?’

a8 1
ipt?

gtar? Seven stars have how many times as many Po£l o
as 1 star? Bight stars have how many times 8%

points as 1 star?

8. 545+5+45+5-45 are how many times 5

5 are how many ?

I..llllllllll..-____

p 680
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4. 54+54+5+54+54+5+4+5+4+5 are how many times 5°?
8 times 5 are how many ?

5. If Jobn earns 5 cents each day, how many cents can
he earn in 6 days? How many times as many can he
earn in 6 days as in 1 day? Six times 5 are how
many ? ‘

6. How many cents can John earn in 10 days, if he can
earn 5 cents in 1 day? How many times as many cents
can he earn in 10 days as in 1 day?

7. 3 times 5 are how many? How many more are 4
times 5?7 How imany are 4 times 52 7 times 57 8
times 5? 9 times 5? 10 times 5?7 How many more 5
do you take each time?

54+54+54+54+5= dX b=
54+5+6+4+564+5+56= 6 x5=
54+54+5454+54+54+5= X D—
5+5+5+5+5+5+5+5= 8X5=
54+54+5+54+54+54+54+54+5— Ix5=
54+5+5+5+545454+5+54+5— 10 x5=

5 5 5 5 3 4 b




pupil how to pronounce it.
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Sixth Exercise.

1. How many petals*
has one lily? How many
times as many have 7
lilies? How many pet-
als have 7 lilies? 7 times
6 are how many ?

2. If 1 lily has 6 petals,
how many petals have 8
lilies? How many !mve
9 lilies? How many t.nfmes
6 petals have 10 lilies?
How many petals bave 10
lilies ? _

3. If James buys 6 oranges for 6 cents apiece, how
many cents must he pay for all ?

4. How many times as much must James pay for 9
oranges as for 1 ? How much must he pay for 9 oranges

if 1 orange is worth 6 cents? .
5. 64 64-6-+4 6--6-6 are how many times 6 ? 6 times

6 are how many ?

6. If each of 8 boys has 6 nuts, how many have they
all? How many times 6 nuts have they? 8 times 6
nuts are how many nuts?

7. 2 times 6 are 12. How many more 6’s must you
take to make 3 times 6? How many are 3 times 6?7
How many more are 4 times 67 How many are 4

times 6 ?

* Teacher be careful to explain the meaning of this word, and teach thé
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8. 5x6=30. How manyare6x6? 7x6?
9. 8 x6=48. How many are 9 x6? 10x6?
10. When you know how many 7 times 6 are, how
do you find out how many 8 times 6 are ?

64+6+6464646= 6x6=
64+6+61+6+646+6= ' "X 6=
6+64+6+64+6+4+64+64+6— 8 x 6=
6+6+4+6+6+64+64+6+64+6= | 9x6=
64+6+6+64+6+646464+6+6=| 10x6—

6 6 6 6 6 0 1 2 38 4 5 ¢
9 10 7 6 8 6 6 6 6 & ¢ g

T Soms— —_—

Seventh Exercise.

1. There are 7 days in one week. How many times
as many days are there in 4 weeks? How many days in
4 weeks? How many days in 2 weeks? How many in
6 weeks? - ‘

2. How many days are there in 8 weeks? Whyp*
How many days in 9 weeks? Why? How many days
in 10 weeks? Why? :

3. If Jane finds 7 eggs each day, how many will she

find in 6 days ? Why ?
4. 74+ 7= how many? 7+ 7 are how many times 7?

2 times 7 are how many ?

* The answer should be, ‘ Because there are 8 times as mapy days in 8
weeks as there are in 1 week, and 8 times 7 are 66."
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| v many times 7 stars , Eighth Exercise,
5.tggzhere? HOW] % L : : : : : : : - IE{OW]EIIMny oy ¢ i;here 6000000
| B ) oW from eft to _ a TOW? oF many ¢sr How eeeeceeee
| stars I How many Tows ? * 9 & & K K many b8 ? How many letters in i
| nght?many {imes 88 Inany # ¥ & & kK each TOW? .HOW many rows? | . A el & S
| How there in 8 TOW8 a5 I ¥ ¥ &k K ¥ & How many times 8 letters are u il T B T
| tars B irow? Stimes ¢ g g¢ 9 4 K K there? How many lotters in allp | " ' 0 0 0o
I ;h?;;:r :r:re how many stars? ¥ & % ¥ ¥ ¥ K 9 times 8 letters are how many T %S B
| rs are there Jetters?
I 6. Ho&?ﬁ%:t;omleft DO R T ¥* ¥ I e wiite 8 TOW of Battivy i ek
4 11:1 Zto?f ‘VhY? | undel' the g;}j’ ho‘:') many rows of g28882888E8
right ! rs will there be? How i
5. If 3 times 7 are 21, how many are 4 times 7 ? i‘i’:;’ees 8 Tetters wre How many ;::;ZS i::mes 8 letters? 10
| g, If 5 times " are 35, how many are 6 times 77 . 3. If we cover up the row of g’s, how many rows of
| 9 How many more are 8 times 7 than 7 times 7 ¥ letters will there be? How many times 8 letters?
| 10. 4 x 7=28. How many are 5§ x7p 6x7°? 7><7? 8 % 8 =— how many?
| - i 4. If there are 9 boys, and each boy has 8 cents, how
R, N - many times 8 cents have they all? How many cents
ZIZIZ:ZI717I'Z+7= g i;.—,— have they all? 9 timc.as 8.are how many ? ;
IR N EE N S S SN Y . g 5 1= 5. If there are 10 girls in the class, and each girl has 8
w7+ + 7+7+7+7+7_ 10 X 1= buttons on her dress, how many buttons are there on all
— their dresses? How many times 8 buttons are there ?

10 times 8 are how many ?

7
| S ety T g 2 3 4 5 6 y 6. 2 x8=16. How many are 3x8? 4x8? 5x8?
| 8 9 Y10 7 ¥ v ¢ v o1 %~ 6x8? 7x8?
8+8+8+8+8+84+8+8= 8 x 8=
6 3
gy - Z‘g 7 5 4 6 3 8+848+8+8+8484848= 9 x 8=
il 00 e 2 B & = 8+8+4+8+8+8+84+848+848=| 10x8=

8 8 8 0 1 2 3 4 5 6 7 8
0 8 9 8 8 8 8 8 8 8 8 8

1

E—
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Ninth Exeroise.

1. How many branches hag
this plant? How many leaveg
on each branch? How many
times 9 leaves are there on the

planfi? 10 times? 9 leaves arg

w many leaves:
h02. If you Were to break off W

' ' ALY
the lowest pranch, how many = N S
pranches would be left? How ) [pd S

many IBSVGS? 9 X 9= hOW Do % 5’“""'» N
.\.V 2 7' '.’ > O .~‘ .z‘-m“

many ? e
g, If you were to break off

two of the lower branches, hqy, many branches would o4
main? How many leaves? g g "y o many ?

4. If you were to b1:ea.k off 3 of the branches, h;w ms” y
pranches would remain ? Hoy, many leaves? 7 time? ?
gre how many ? .

5. How many fingers has a bov on both h L
thumbs? How many have 10 bo;r 7 10 tensaﬁf( :ﬁ;ﬂ” ?
6. How many fingers have g boys? 7 boys? 6 bof p ?

9 boys?
w If a boy earns 10

cents each day, how many
cents does he earnin 2
days? 8 days? 6 days?
8 days? 10 days? 10 x 10

= how many ? : w
8 2x0=18. 3x9=" 4y 9=7? 5x9=45. 6x97

T<x9=9? 8x9—=—17P

?

PUPILS READING SIMPLE WORDS. 9]

94+94+94+9494+94+9+9+9= 9 x 9—

941 9+9+94+9+94+94+94+9+9=| 10x9=

104104+104+104104+10+104+10410+10=
10 x 10=

9 0 1 2 3
10 9 9 9 9

P

152 |o®

5 6 8 9 19
D o g Gagaeiante, o9

8 9 10

(0] 1 2 3 w
;L_(l 30 10 10 10 10 10 10 10 10 10

Tenth Exercise.*

1. Here are two piles
of money. In the upper
there are 5 3-cent pieces.
How many cents are in
it? 5 times 3 are how
many ? In the lowerare
3 5-cent pieces. How
many cents in it? 3
times 5 are how many?
In which pile is there the
most money ? 5 times 3
is the same as what ?

2. James earned 3 cents eal
many cents had he? John ea®®
days. How many cents had he?

n day for 4 days. How
d 4 cents each day for 3
Which hag the more?

# The purpose of this exercise is to teach that the factors may de mhanged
without qffecting the product ; 4. e., that 4 times 8 is the same as 8 times 4, etc
This truth should be amply illuatrated by oral exercises akin to these here
given, before the pupil is required to study these.
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3. 4 times 3 are how many? 3 times 4 are how many ? "1x2= ,hence2xl= |1x 8= » hence 8x1=
E Which is the most, 3 times 4 or 4 times 3 ? el 35 = 2% 8=, henoek B X3
’\ 4 Mais 10 5 _ 1x8= , hence3x1= |83x 8= ,hence §x3=
| B ar -cent pieces and Jane has 5 10-cent 2X3= , hence3x2= |[4x 8= ,hence §x4—
\\ pieces. Which has the most ? Why ? 3 % 3— 5x 8= ,hence 8x5=
I 5. If you count the rows 1x4= , hence4dxl= |6x 8= ,hence 8x6=
I of stars from left to right, ® K k& K ¥ 2x4= , hence 4x2= |7x 8= ,hence 8x7=
| how many stars are there in * K I K Kk K 3xX4= , hence 4 x3= 8 x8=
I a row? How many rows of ¥* & & & % Kk ¥ 4x4= 1x 9= ,hence 9x1=
i 7 stars each? How many %« 9% 9 & & % ¥ 1x5= ,hencebxl= |2x 9= ,hence Ix2=
i gtars ? Ifyou count the TOWS I 9 . * ¥« * ¥ 2XH5= , hence 5 X 2= 3X 9= , hence 9x3=
of stars down the page, how ¥ ¥ 9% ¥ ¥ ¥ % 3x5= |, hence 5 x3= 4% 9= , hence 9x4—=
| many stars are there in a row ? ¥ ¥ & ¥ * % % 4x5—= |, hence 5 x4= 99X 9= , hence 9Ixb5=
| How many rows of 8 stars & % ¥ 9 & ¥ % X 5= 6x 9= , hence 9x6=
I each? 8 times 7 are how 1x6= , hence 6 x1= |7x 9= ,hence 9x7=
| many? 7 times 8 are how many? Which is $he most, Ax 6=, hence §x2=|8x 9= ,hence 9x8=
| 8 times 7 or 7 times 8 ? 38X 6=, hence 6 x3= o=
| : 4x6= , hence 6 x4= |[1x10= , hencel0x1=
| 6. 5 times 3 are how many? Then how many are 3 5x6=, hence 6 x5= |2x10= ,hence10x2—
f + times5? Why?* , 6 x 6= 3x10= , hence 10 x3—
| " 7. 6 times 4 are how many? Then 4 times 6 are how Ix7= , hence " x1= |4x10= ,hencel0x4=
many? Why? Zx7= , hence 7xX2= |5x10= , hencel0x5=
. 3x7= , hence7xX3= |6x10= ,hencel0x6=
8. 7 times 6 are how many ? Then 6 times 7 are how 4x7= ,hence?x4= |7x10= , heneel0x7=
| many? Why? 5x7= , hence 7x5= |[8x10= , hencel0x8=
“ 6x7= , hence 7 x6= 9%x10= , hence1l0 x 9=
i * In these exercises it is to be observed that the first product has been W= 10 x 10=
learned already, and from it the second is to be inferred. Thus, they have
learned that 5 times 8 are 15, and are hence to infer that 8 times 5 are 15. The ‘
Jorm of answer should be something like this: * Becanse 5 times 8 are 15, and * This table affords exercises like the preceding, and should be used to f-
3times 5 are Just as many as 5 times 8 This jmportant truth should be made wiliarize the idea that the order of the factors 1s indifferent, and aleo a8 an ex-
berfectly familiar ; it lessens the work of learning the maultiplication just one- ercise to aid In fixing the products In mind. Papils shonld copy it and All &

hal,

y

out; they should recite it individually and in concert,
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Eleventh Exercise.

1. *6+46+46+6 are how many times 6 ? How m@y

are 4 times 6?

2. 8+3+3+3+3+3+3+43 are how many? How

many times 3 ? 8 times 3 are how many ?

14 1= ,hence?2x 1= | 6+ 6= ,hence2 x g_—
2+ 2= ,hence2x 2= | 7+ 7= ,hence2 x w_
3+ 3= ,hence?2x 3= | 8+ 8= ,hence2x g_
4+ 4= ,hence?X 4= | 94 9= ,hence2x g_
54 5= ,hence2x 5= |10+10= ,hence 2 x 10—

1+ 14 1= , hence 3 x 1 —

24 24 Q= , hence 3 x 2 —

34+ 34+ 3= , hence 3 x 3=

44 44 4= , hence 3 x 4

5+ 5+ 5=, hence 3 x 5 —

6+ 64 6= , hence 3 x 6=

i L = , hence 3 x %W —

8+ 8+.8= , hence 3 x 8 —

94 94 9= , hence 3 x 9 —

10 +10 + 10= , hence 3 x 10 =

3, 1+1+1+4+1= , hence 4X1=
24+2+4+2+4+2= , hence 4xX2=
34+3+3+3= , hence 4X3=
44+4+4444=— , hence 4 x4=
Let the pupil copy this on his slate and fill it out to 4
times 10, and write in all the results. So also of the

following :

® The pupil is expected to add the 6's, and thus find out the answer. It 19

a ed
.f::grzd. that exercise in addition as well as instruction in multiplication b
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4. 14+141+4+1+4+1= , hence 5x1=
24+242424-2= , hence 5 x2= , ete.

5. 14+1+4+141+41+41= , hence 6 x1=
R+2+2+42+42+42= , hence 6 xX2= , ete.

6. 1+14+1+14+14+1+1= , hence Tx1=
242424242424 2= , hence T x2—= , ete.

7. 1+1414+1+1+1+414+1= ,hence8x1=
24+2+2+2+2+2+2+2= ,hence 8x2= | et

8 14+1+4+14+1+4+1+41414+1+4+1= ,hence9x1—
242424+24+2424+24+2+42= ,hence9d x 2— , ete,

9.

1414+14+14+14+1+1+1+1+1= ,bencelQx1—

2+2+2+2+2+2+2+2+2+2= ,hence10><2= , ete,

Twelfth Exercise.

1. Repeat the 2’s of the multiplica-
tion table 5 times, thus:*

1 time 2 is

2 times 2 are .

3 times 2 are , etc.
2. Repeat the 2’s 5 times in this

way :
2 times 1 are ——.
2 times 2 are
2 times 3 are

, ete.

* Teacher show the child how to keep hif tally by marks as he says the exer-
“l2e over, 80 ag to know when he has been 0ver it five times. ‘
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3. Repeat the 8’s 5 times thus:

1time8is — " . . . .
2 times 8 are — L I I

8 times 3 are — otp,

4. Repeat the 3’ 5 times thus:

3 times 1 are —, ® ok ok ke F
3 times 2 gre ¢ %

3 times 3 gre SUPY P

9. Answer the following 5 times:

2X8? 4x9p 2x7P Tx2? 8x1? 6x3°? 5x3;
3x59 4?<3? 3x4? 2x8? 8x2? Wx3? 2x7?
1X2? 1x87 5527 3x57 9x3p ouxop 3x9

6. If 1 Orange costs 4 cents, how many cents will 3
Oranges cogt p

ra, r
It1o nge cogt 4 cents, 8 oranges will cost 8 times 4 centd @
12 centg,

TIfg bencil cogts 5 cents, how many cents will 3 per”

8‘ If a
does he 1

boy learns 2 lessons each day, how niany Jesso?

€arn in g days ? In 9days? ar0

o here gare 1 days in one week. How many day®
ein 9 Weeks ? In 3 weeks ?

Thirteenth Exercise. g
hua®*
: Repeat the 4’5 5 times in each of the two Ways b

; tfme 4is —— | 4 times 1 are —
* t}mes 4 are ——, 4 times 2 are —
3 timeg 4 are ——, | 4 times 3 are —
%te, ete, ete., ete.

PUPIZLS READING SIMPLE WORDS. 97

2. Repeat the 5’s 5 times in each of the two ways, thus:

1time5is —-. 5 times 1 are —.
2 times 5 are " 5 times 2 are —.
3 times 5 are . 5 times 3 are —.
ete., ete. ete., ete.

3. Repeat the 6’s 5 times in each of the two ways, thus:

1 time 6 ig —— 6 times 1 are —.
2 times 6 gre 6 times 2 are ——,
3 times 6 are 6 times 3 are —.

ete., ete. | ete., ete.

4. OOPy the following on your slates, multiply, and

Write the results underneath :

4 v g8 9 6 7T 8 5 4 6 9
=% 5 6 67 658 998
75??_6—4 5 10 2 6 6 5
~ % 410 81010 5 4 3 6 5

S. James worked w hours for 5 cents an hour. How

"uch gig he earn ?
" 8. John worked 6 hours for 4 centsan hour, and Henry
Orkeq 4 hours for 6 cents an hour. Which earned the

gt 5
dig * Jane bought, ¥ oranges for 6 cents each. How much
®Y cost ?

Mary b 1s of thread for 5 cents a spool,
ought 4 spools 0
E:d 8ave the clgerk 95 cents. How much change should

hofl :: her? How much did her thread cost? 25 is
Uch more than 207

8,
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3. Repeat the 3’s 5 times thus:

ltime8ig — *

2 times 3 are _— * % *** *** *** **“
3 times 3 are —, ete.

4. Repeat the 3’s 5 times thus:

3t}me81are . e . -
3 times 2 are % *

3 times 3 are . he. = xx *F

; 9. Answer the following 5 times:
3::2; IX2? 3x7P 7x2P 3x1? 6x3? 5x3’
Lnas AX3P 8x4? 287 8x2? 7x3? 2x7P
| 6 if11X3? 5x2? 8x5? 9x38P 9x2? 3x9§
g org .
l oranges cogt Pnge costs 4 cents, how many cents will

| If1 org
! 12 centg, 180 Cost 4 cents, 8 oranges will cost 8 times 4 cents

| 7. If . . i
cils cog tl?Pencﬂ costs 5 cents, how many cents will 3 P¢”
| 8. :
| doeg lff ? boy learns 2 lessons each day, how many lesso”
0 1?11 earn in ¢ days ? In 9days? a7
there iy, ®re are 7 days in one week. How many day®
2 Weekg 7 In 3 weeks ?

Thirteenth Exercise.

1L
Repeat the 4’5 5 times in each of the two way®
1 time 4 ;4

thus

—. | 4 times 1 are —
4 times 2 are —
4 times 3 are —
ete., ete.

e t.imes 4 are —.
3 timeg 4 are ——,
eto,, etc.
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2. Repeat the 5’s 5 times in each of the two ways, thus:

1 time 5i8 —u. 5 times 1 are ——.
2 times 5 are —. 5 times 2 are —.
3 times 5 are 3 5 times 3 are —.
ete., ete. ete., ete.

3. Repeat the 6°s 5 times in each of the two ways, thus:

6 times 1 are ——.
6 times 2 are ——.
6 times 3 are —.
ete., etc.

1 time 6 iz ——.
2 times 6 are
3 times 6 are
ete., ete.

4. Copy the following on your slates, multiply, and

Write the results underneath :

24 v 8 o 6 7 8 5 4 6 9
—~ % 5 6 6 7 6 5 8 9 9 6
z 5 9 g 6 4 5 10 2 6 6 5
~ % 4 10 8 10 10 5 4 2 6 5

lnf ) Ja'l.nes worked 7 hours for 5 cents an hour. How
ch did he earn ?

wo& John worked 6 hours for 4 centsan hour,and Henry
Tkeq 4 hours for 6 cents an hour. Which earned the

Mogt
Jang bought 77 oranges for 6 cents each. How much
Oy cost ?

M d for 5 cents a spool
an ary bought 4 spools of thread for spool,
hed 8ave the clgerk 95 cents. How much change should

h0v§1 :: her? How much did her thread cost? 5 is
Uch more than 207






